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printing 0.
&( *** DPO:stdnu DP1:stdnu stdnu ***)to nifu nwch C

repeat (( NE 0 "nbs-mouse 71?( done with cons frmse cons nbs cons mouse **8 mouse 9)

-1<nnwch-rdch?( done with cons frkey nwch)
ch pa 'uNA

L 0,1- ) u routo winwat tstno nxin ( :tstno.
C -% 1 0, bu/.04repeat ("tstno-tstno-1. tstno=0?(done)
41*¥«,7

"nxin•-nifu.

(nxin first)=frmse?('nbs•-(nxin rest) first. &(check button state).unxin-(nxin rest) rest.
"mx-nxin first.
Nmy-nxin rest,&(wrind finds relevant window and puts it in front of wlist;recog recognizes).&(input command and puts all relevant info., incl. command name, in comvec).(wfind mx my)?("comvec•-recog mx my.

&(*** (comvec[1]) comvec***).again)ERROR (mouse not in existing window) . again
(nxin first)=frkey?((wlist first) keyin nxin rest.

again ))

) 1to wfind mx my (:mx. :my.
(null #wlist)?(&(! )EMPTY)
((wlist first) msipt mx my>?(&(! )#wlist)"nlist-wlist rest. "onebe#wlist
repeat{ · Zk 2(null #nlist)?(done with EMPTY)((nlist first) msipt mx my)?Conebe rest-nlist rest.

nlist rest+#wlist.
Nwlist•·#nlist.
done with #wlist)"onebe-#nlist. "nlist-nlist rest. ¥J¢

y

+1

to chkmouse mx my (:mx. :my. ulx<Cmx)<ulx+wd?(uly<(my)<uly+ht) )
to stwin 1ptr dchk : type ulx uly ht wd strvec curstrip curx cury (T "@INSTANCE-ALLOC 9. .

266,>"type-#@stwin. -

:ulx. :uly. :ht. :wd. 1 1·+, <'R"lptr•-#wlist.
repeat (
(null #lptr)?(done)

(lptr first) ckbds ulx uly ht wd. _As *.,ci 0*-4 Ur·2*W"lptr•-lptr rest ,
.Vtt.\41\ SMU \ow· 4 Kd#44*66¥ko.m *,

NUAk
'

"wlist-cons #@INSTANCE #wlist. L_.? '+,A.k 40-»i - v'dchk-dispwindow ulx uly lit wd.
r&((dchk first#0)?(**find error and correct**)). Ustrvec•-vector[20].

'curstrip•-strip uTy.
curstrip init. 1.--41 {"ff *r vidnU. "LO+J¢C#@INSTANCE S# tic.. t. rk >11 ' l-44 . rt• .*

-\13.6 Ukrf otbW 4 j,4b- 46-V 2to @stwin tmpx tmpy tmph tmpw inity 1su 1sd index line notlaststrip:ht wd strvec curstrip curx cury(

a JW4 '011¢Ul/NO OW4 %4 -4 £ ..0 Ld- 
£4&.ie bly M J

+ 42* 1 4

type ulx uly **
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 %ckbds?(:tmpx. :tmpy. :tmph. :tmpw. &( **ck bds and adjust*•)3
,@1 -%ms ipt?(: tmpx . : tmpy.(chkmouse tmpx tmpy)? (dispwindow ulx uly ht wd. Mok this tim **

e)

to fndstrip limit (
"line•-(fontht+tmpy-uly)/fontht.
"index-0. "limitsstrvec length.repeat (limit<"index-index+1?(ERROR (can't find strip for mouse))

Cline-1)<"inc-(strvec[index]) length?(done)
"line·-line-inc)

uly+fontht*line-1)

to restorewind strvec index limit sxy (:strvec.
"limit•·strvec length. "index•-0.clear ulx uly ht wd. · 1
"sxy#getxy.
setxy ulx uly.
repeat (limit<"index-index+1?(done)

(strvec[index]) regenerate)setxy sxy first sxy rest) 2
to strip : type topy endy linevec newchar C

"@INSTANCE-ALLOC 5.
"type-#@strip.
:topy.
"endy-topy+fontht.

setxy curx cory. &(! )true) )
%keyin?("lsu•-"lsd*-0 f:newchap. "notlaststrip•-EMPTY . 1 :%.

"inity-getxy )4 -- ---*- .61#*4+44 3 1
,p,e·*,-,r- CA=curstrip insert curstrip length curx newchar?(shftllnes. 2-12 i j f

curstrip finish."cury-getxy y. \1 j 2 1
"curstrip-strip cury. curstrip init )

restorewind strvec)  -ti· lue lo j(1.6
Winsert?(:tmpx. :tmpy. "lsu•-"lsd•-0. &(# lines scrolled during edit)

"inity•-fndstrip. "notlaststrip-NE index strvec length.
dic- a - 4 0 1 O

"newchar-rdch.&(really want nifu). :
CA=(strvec[index]) insert line tmpx newchar ?(shftlines.CA) (M Lhf Ve.. 1
restorewind strvec.RE5ET)

ir\Wl -4 .-:.Al 1

to shftlines nlines limit index tmp (&(fix strvec to reflect lines scrolled up out of window)
"nlines-lsu. "limit-strvec length. "index•-0.repeat(0=nlines?(done) . i

limit<"index•-index+1?(ERROR (scroll up).done)
nlines<"tmp-(strvec [index]) length?(done)
"nlines,-nlines-tmp."tmp-(strvec length)-1.  . I
&(shift strvec by tmp lines)
copyitems Lmp from strvec at 2 to strvec at 1.
strvec length-tmp)

nlines>0?((strvec[index]) shftlines up nlines)
&(corresponding part for lines shifted down)
"nlines•-lsd."index-strvec length.repeat(0=nlines?(done) . i'O>"index•-index-I?(ERROR (scroll down). done)nlines<"tmp-(strvec[index]) length?(done) ·% 1

"nlines-nlines-tmp.
strvec length-(strvec length)-1)

nlines>07((strvec[indexl) shftlines down nlines)) 5.

1

4d



STDNU *

PAGE 3

strvec append --#@INSTANCE.ulinevec-vector[10]. &(points to lines of strip).linevec append *- buffer[30]. &(char. string for current input)
"newchar«buffer[ 1 1.newchar 1 engthbl.
#@INSTANCE)to @strip othy tmpx linel linen rettist tmp tme2 : type topy endy linevec newchar **
%ckbds?( :othy. topy<(othy)<endy )
%length?(linevec length)*init?(@INSTANCE print #PROMPT. •curx,getxy x. 'cury•getxy y)%finish?(newline. (linevec last) append +CR.•endy-getxy y.

&("index+·0.lindx•·linevec length.repeat(lindx<" index·-index+1?(done)
bread linevec[index])))

Zinsert?(:linel. :tmpx. "retlist-stins :tmp.(CA=retlist first?(update retlist rest)}retlist first)
%shftlines?(:tmp, ntm92-(linevec length)-tmp.*up?(copyitems tmpZ from linevec at tmp+1 to linevec at 1.

linevec length,tmp2)
%down?(linevec length-tmp2)
ERROR (strip shift) )

gregenerate?("tmolinevec length. "tm92+0.repeat(tmp<"tmp£-tmp£+17(done)pstring linevec[tmp21. newlinell
*print?(:bname. pstring #bname."tmp-linevec last."tmpZ-tmp length.

tmp lengthetmp€+bname length.copyitems bname length from bname at 1 to tmp at 1 + tmp2 )
to stins index taillen tailline taill ta112 headline insbuf nxin nlvec<"index•:£04£han. edbufinit index. :nxin..*»repdat C nxin=CA?(nlvfin. done with cons CA nlvec)nxin=RESET?(done with cons RESET nil)(nxin=BS?(0<insbuf length?(backspace insbuf last. printailinsbuf length-(insbuf length)-1)

9  , •insbuf•nlver last. backspace insbuf last.insbuf length-( insbuf length)-1.
nlvec length•·(nlvec length)-1.&(fix disp. ptrs). setxy ulx (getxy y)-fontht.
setdisp 0. pstring insbuf. setdisp 1>

nxin=CR?(insbuT append+CR.nlvec append-insbuf.
?insbuf•-buffer[30]. newline )

(Aewchar[1#nxin.(0:-<"p-string #newchar?(new'line. pstring #newchar. ' **insbuf append•-CR. nlve€ append-insbuf.
"insbuf-buffer[30]))

insbuf append-nxin. printail)unxin-rdch.&(really want nifu) ) )
to nlvfin hien iblen tllen t2len nlvl C"hlen-headline length. "iblen-insbuf length.

"tllen-taill length."t21en#taill length.0 =n lvec l en gth ? ( " n 1 v l -buffert h l en+ i b l en+ t i l en ] .copyitems hlen from headline-at 1 to nlvl at 1.copyitems iblen from insbuf at.1 to nlvt at hlen+1.copyitems tllen from taill at 1 to nlvl at hlen+iblen+1. ' 4
nlvec append•unlvl.
0<t2len?(nlvec append•·tai 12))"nlvl•*nlved[1]."nlvilen,-nlvl length. nlvt length•·hle*+nlvllen.copyitems nlvllen fromnlvl at 1 to nlvl at hlen+1.copyitems hien from headline at 1 to nlvl at 1.
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insbuf length•-iblen+tllen.
copyitems tllen from taill at 1 to insbuf at iblen+1.
nlvec append-insbuf.
0<t21en?(nlvec append tai 12)

.

3,
to fndchar Illmit (setxy ulx topy+(linel-1)*fA-iRE

"headline-linevec[linel].
"index•-0. "llimit•-headline length.
setdisp 0.
repeat (llimit<#index•index+1?(done)

newchar[13-headline[index].ilstring newchar.
tmpx<getxy x?(done)) U.„ 11 3

setdisp 1.index)

' -©2*6 4514 /:1
0 0»6
»

to edburinit index (:index
' ta illen-(headline 1 ength)-i ndex-1.
"tailline-buffer[taillen].
tailline length•-taillen.
" taill-buffer[ 1]."tail 2-buffer[ 11.
copyitems taillen from headline at -index to tailline at 1.
headline length-index-1.
"linen•«inel. &(index of last changed 11ne)
unlvec#vector[5]. &(vector of changed lines).
"insbuf.buffer[10] 1

to printail sxy ("sxy-getxy.
CO="nchar•·pstring tailline?(talle length•.0.makecopy #tailline #t **

aill)
(l=nchar?(taill length•-0. makecopy #tailline #tal12)

ta i 11 1 ength•·nchar-1.
copyitems nchar-1 from tailline at 1 to taill at 1.
tai 12 length-(tailline length)-nchar.
copyitems tai 12 length from tailline at nchar to ta112 at **

1)
taill append•-CR. newline. pstring tal 12),

setxy sxy first sxy rest)

to makecopy bufl bufe blen (:bufl. :buf2.
"blen-bufl length.
"buf2 length,-blen.
copyitems blen from bufl at 1 to buf2 at 1)

to update tmp tmp2 repvec (:repvec.
"tmp•-linevec length. "tmp2-repvec length.
copyltems tmp-linen from linevec at linen+1 to linevec at linel+ **

tmp2.
linevec length-tmp+tmpt-linen+1-linel.
0<repvec length?(copyitems tmp2 from repvec at 1 to linevet at 1 **

inel))

to newlinew(notlaststrip?(scrolldown.dispnewln)
0>dispnewln?(scrollup))

to scrollup tmpy ("tmpy-getxy y."lsu#lsu+1.
copy ulx uly+fontht tmpy-uly wd ulx uly 1. setxy Ulx tmpy)

to scrolldown tmpy ("tmpy-fontht+getxy y. ulsd•-lsd+1,
tmpy=uly+ht-fontht?("notlaststrip•EMPTY.clear ulx tmpy fontht **

Wd)
copy ulx tmpy uly+ht··tmpy+fontht wd ulx tmpy+fontht 1)

t.4
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&(editing commands).

to INSERT xcoord ycoord (:xcoord. :ycoord. (wlist first) insert xcoord ycoord)

to insert (
repeat< repeat(1=mouse 1?(done)). repeat(0=mouse 1?(done)).

"xcoord•-mouse 8.*ycoord=mouse 9.
&(showcursor at xcoord ycoord)
(wfind xcoord ycoord)?(INSERT xcoord ycoord. done)
ERROR (mouse not in existing window). again) )

to iconinsert comvec ( :comvec. INSERT (comve¢[2]+comve¢[3])/2 comvec[4]-fontht/2)
printing 1.

restart.
createglobals.
Stwin 0 0 256 256.
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printing O.
to edit (ov "ocg)
to debug nn<:nn.print "D . print nn.repeat(eval read))
to winx ("x-stwin 0 0 127 256)
to winy ("y-stwin 0 128 127 256)
to & (:".0). &(define comment brackets )

- +63 44*J. brok 4"*4 9- 616•WIK »JA 3.9 09'05
., \,Al ... r.M , re,r .,Un: t.5 14,A br

&( ****INITIALIZATION****)

"true,-1.

"PROMPT•-buffer[2]. &(prompt char = ->)
PROMPT append+45.
PROMPT append-62.
"CA•-27. &(escape)

¢ "RESET-92.. &(<backslash>)
) 65-127. &(<backspace>)
f "CR•-13. &(<CR>)
L "DEL-255. &(<DEL>)

"wlist»nil.
"maxht•-256.
"maxwd-256.
"fontht-16.
"frmse•-1,
"frkey•-0.

&(****AUXILIARY PROCEDURES ****,

to setup (ov "setup) , . I +

to init (setup. setdisp 1. ) 7
to restart(init. "wlist-nil.) 0 1
to recog mx my (:mx. :my. O)

to rdch (0CODE 60). &(read a character from NOVA keybd) 3 N/ 4
to prch char (:char. @CODE 65). &(send char to NOVA keybd). 54 92.fit

t. 69 to cons : type first rest ("@INSTANCE-ALLOC 3. "type•-#@CONS. :first . :rest. #@IN **

p.,1 42

STANCE) r r
to @CONS : type first rest ( 44%™14& . L 1 --4 '0,1/ Er L- € a4,5 FCM S
%first?(%•-?(:first.)#first)  the.J-
%rest?(%,-?(:rest.)#rest) 1- EA'.r, 1
#@SELF) a I12!

to ERROR msg ( :"msg. print msg)  # l #h- )4 -9

to NE argl arg2 (:argl = :arg2 ?(EMPTY) true) 1«-'3*

&(****INTERFACE TO DISPLAY MACHINE CODE****)

to dispwindow ulx uly ht wd (:ulx :uly :ht :wd . @CODE 50 . &(! )cons ulx uly)
to pstring sptr (:sptr. @CODE 53 . &(! )sptr)

to dispnewln retn over (@CODE 54 . &(! )retn) · 4
to gotxy xx yy (@CODE 52 .

%x?(&(! )xx)
%y?(&(! )yy)
&(! )cons xx yy)

to setxy x y(:x :y . @CODE 51 . &(! )cons x y)
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to setdisp n (:n . @CODE 57. &(! )n)
to clear ulx uly ht wd (:ulx :uly thi :wd . @CODE 55 . &(1 )cons ulx uly)
to copy orgx orgy ht wd desx desy clsw C:orgx :orgy :ht :wd :desx :desy :clsw .

@CODE 56.
&(1 )cons orgx orgy)

to tab n (:n . @CODE 59. &(! )n)
to backspace chrcd (:chrcd . @COOE 58. &(! )chrcd)
printing 1.


